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typedef struct optical_flow_data

{

int16_t  flow_x_integral; NX A% 5 B AT A P ) B i #2(radians* 10000)
I [Ex EL 10000 # LA FE (mm) f5 7956 BR A 8 (mm))
int16_t  flow_y_integral; Iy 183 5 B oH i 1a] 3 ) £ 02 # (radians* 10000)

{1 [B&EL 10000 3 LL & FE (mm) 5 5k Br i # (mm)]
uint16_t integration_timespan; /f b — ¥ 108 0 Hdis 3 A R L e AR 1 B i itE (us)
uint16_t ground distance; /N #iE . Bl 999 (Ox03ET)
uintd8_t valid; i AR 1H:0(0x00) A i dE A~ T

11245 (0xF5) 9 ¢ S48 7]
uint8_t  version; A

} Upixels_OpticalFlow;
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typedef struct

{
intle_t flow x_integral;
intle_t flow_ y integral;
uintle_t integration_timespan;
uintlé_t ground_distance;
uint8 t quality;
uint8 t version;

}LC302 Data;

LC302 Data 1c302_data;

typedef struct {
bool healthy;
float flow_dt;
float vel x;
float vel y;
float pos_x;
float pos_y;
} Opticalflow_state;
Opticalflow state opticalflow_state;



uint8_t get_lc302_data(uint8_t buf);
void opticalflow_update(void);

static intle t s =0, p = 0;
static uint8 t Xor_r = 0x00, Xor_c = 0x00;
uint8 t get_lc302_data(uint8_t buf)

{

uint8 t ret = 1;

switch(s)
{
case 0O:
if(buf == OxFE)
{
s = 1;
//printf("Got FE\n");
}
break;
case 1:
if(buf == 0x0A)
{
S = 2;
p = 0;
Xor_c = 0x00;
//printf("Got ©A\n");
telse
s = 0;
break;
case 2:

((char *)&1c302 data)[p++] = buf;

Xor_c "= buf;

if(p == 10){
s = 3;
= 0;
}
break;
case 3: //crc
s = 4;
Xor_r = buf;
break;

case 4://end
if(buf == 0x55){
//printf("Got ©x55\n");



if(Xor_r == Xor_c){
ret = 9;

opticalflow_update();//BERKAGEIIAETH
}

else
ret = 2;

break;
default:
break;

}

return ret;

/ /GRS R
static float flow_alt, flow bf x, flow bf y;
void opticalflow_update(void){

[/ ERRBEOLEBRIRB S E
flow_alt= ({REGBOLMBEEIRE, Bficm) ;

if(1c302 data.quality==245){
/I FERBRIER

opticalflow_state.healthy=true;
telse{

/1 XRBIRERE

opticalflow_state.healthy=false;
return;

}
/1 IERBE > BEE

flow_bf x=(float)lc302 data.flow y integral*e.e001f+ ({REVNE
#IME)
flow_bf y=-(float)lc302 data.flow x_integral*e.0e01f+ ({REVIE

#AMZ)



//RERFPECLEE, XCRM R 53 E TR IE]

/1 BAE F R R R A AR R

opticalflow_state.flow_dt=(float)1lc302_data.integration_tim
espan*0.000001f;
opticalflow_state.vel x=
opticalflow state.rads x*flow_alt/opticalflow state.flow dt;
opticalflow state.vel y=
opticalflow state.rads y*flow _alt/opticalflow state.flow dt;

/I =R B CLAE, W IERME IR 1T IRERIK

/1 RME R FE SRS

opticalflow_state.pos x+=opticalflow state.vel x*opticalflo
w_state.flow_dt;

opticalflow_state.pos_y+=opticalflow state.vel y*opticalflo
w_state.flow_dt;

}



